Greek 101 TO Ovoud oov:
AGE 04 02 Exercises
1. Decline in full the masculine, feminine, and neuter of the following pronouns:
auTtds -1) -O
EKETVOS -1 -0
O8¢, 1)8¢, TOdE
2. Note the translation for the following sentence:
ol aipoves eite TO PAds eiTe TNV EATIda Seikvaotv.

The gods are showing either light or hope.

Rewrite the Greek so that it translates as follows (words in parentheses need not be
translated into Greek):

a. They themselves are showing either that or this.

b. Those (gods) are showing either this or that.

3. Note the translation for the following sentence:
O &pxwV oUv TO Udwp 1} T& XpriHaTa T 1YEUOVI TTapadidwotl.

The ruler, therefore, is handing back the water or money to the commander.

Rewrite the Greek so that it translates as follows (words in parentheses need not be
translated into Greek):

a. The same ruler, therefore, is handing back that (water) or that (money) to
this commander.

b. This ruler, therefore, is handing back this water or that money to him.



